
SAP ABAP table T53GV {Description of the calculation model}

T53GV

MANDT [CLNT (3)]

SPRSL [LANG (1)]

MOLGA [CHAR (2)]

JURIS [CHAR (4)]

GCATE [CHAR (1)]

DBCOD [CHAR (2)]

CRCOD [CHAR (3)]

T000

MANDT [CLNT (3)]
 T53GV-MANDT = T000-MANDT 

0..N

1

T002

SPRAS [LANG (1)] T53GV-SPRSL = T002-SPRAS 
0..N

1

T500L

MOLGA [CHAR (2)] T53GV-MOLGA = T500L-MOLGA 0..N

1

T53G0

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

JURIS [CHAR (4)]

 T53GV-JURIS = T53G0-JURIS 
0..N1

T53G1

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

GCATE [CHAR (1)]

 T53GV-GCATE = T53G1-GCATE 

0..N

1

T53G4

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

GCATE [CHAR (1)]

JURIS [CHAR (4)]

DBCOD [CHAR (2)]

 T53GV-DBCOD = T53G4-DBCOD 

0..N

1

T53GU

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

JURIS [CHAR (4)]

GCATE [CHAR (1)]

DBCOD [CHAR (2)]

CRCOD [CHAR (3)]

 T53GV-CRCOD = T53GU-CRCOD 

0..N

1


